10258 , SOLUTON , DSSSB (Nursery teacher's)

Ques 1. ANS (B) Solution:

T ATEEIGR (1664-75 3) Riadl & 14 T= 41 36 SITToid
B! efifes faa &1 geR farty frar, HiR & TdR & TR
FHTIATE! BT AT BT TUT G P [ BRANGR HT JK
ST 1675 5 H ST YH WIPHR g1 P B HRUT RIS 3
g (@dHH RIS TEGRT & FAbe g vl &t 3
7e H feeett # <fnis RegR &1 Fafu fear mn g

Ques 2. ANS (C) Solution:

Ff T e A Bl | S9! Iafl axgell H S g
gt 81 @ A i o o gt 81 i & S, g I
T 41 A Sala gt 81 @ a3 & TR & fore fnsht =
forelt menw @t (@1, %@, ) SHaxadhar gl 8, Safd faggd
B IR H HR0T o o forsit off Area &b sra=adsar o
Bt 31 3fct: faggd grae g 101 @i a3 &1 Sifiyae el |
Ques 3. ANS (B) Solution:

e 2014 § 9T ¥y gore fayfaenaa & s o g
GART T UT o UoTe & SRR fIa & e & gd dHahTd
1857 fasig & WEiel & & | U8 AT ST TH TeR1ad &1 KUl
T gam ST A fagie & IR 282 AP HY srorTen & Hid &
e IAR fedn o1 foFds HhTd U g & =id &d Y B
Ters # urd gU S| 3 vt e 267 gt §TTe St SrerferaT
T | S ufE s e, fagR, shfewm sik ey @da H &1 gdl 3
o) 3m Y

Ques 4. ANS (A) Solution:

1o I THRIE TR NS & Hed H [T oIl 8| T8
I NS b Ui FHe gfegrd o1 Fft 3 ifcie giofm
(FTGFR) Y HATGT S & | HRI Aoy 38 I4d & aRM
gl deT B B

Ques 5. ANS (B) Solution:

Ans. (b) 3219 UF SR & FEfAE 9 3 EE
AR G 9 1911 £ forar 911 399 &l dheid 98

3 31 W 4 IR A U i TeEe sfatmart

& foIu e Aavas 21 g9 wE e ik 39
TaEfE W fferfiad g1

ICEAILE] TR AT
foeifid A {fefa

faeIft[ B, aFHA

fae1ftd B, TEAFeifa

faeTfi B, PRI
faetfim ¢ TS e
faeifid D el

fge1f[ E EAGILTAG]

fae1fi By e e
e By HIhETeTH

Ques 6. ANS (A) Solution:

YR B e uReg &1 AP Bell SgEUH b
AT & foReferTgee & Rd fo5ar T 8| ST R
21 3T 1993 3 | B1 718 | HRA & U HY e
TRI — BT T SFHYM TR - PRI AP R
ST g — IAATH P ST HATSAT STHUT bk — STER
YR i S TR - HHR <0 1ad ST
TR —Hedh URA Gaig MY TR - HHAYR

Ques 7. ANS (A) Solution:

12431 Ty TMeq AT 2019 &Y 1037 A Ted &
I Y ST ST § 39 WY G2y & gR1 GfaeE 7 T
3TE5E 15(6) UG 16 (6) DI SIIST T AYT SHS HIAH
SRR a7 & 3nffer =u § Uz il i PR} Aisial
3R A& & &7 T 10%* RN HT UTaeT faar T g

Ques 8. ANS (A) Solution:

ST TS a3 B fRUd U UaeiRics WIRS § ST
fymfor 17843 H 1Y & TaTg AH-Ie-alell GRT HRATT TT
UT| Y IS DI s P (o7 STHT SHHSTST 3R UTHS I b
PHROT Y- YT Hft BT ST § | SfSidT-TaART &1 1Y -
Sﬁiﬂﬁn'c{(rl%mg) Mg el fohdl - gexTaTg ()

Ques 9. ANS (B) Solution:

g o & TS MY g5 ¥ 38 TRMT T NI G (Light
of Asia) 8T I § | UTadt ¥ dreft Rrdredt $97 gd & Smyur
& &b IUCN BT YhaH Aftes (draftes, gaftes, siftiym
fOea) o fasar o unl g o & IR A 89 98¢ I Piftes 3
B U BT 81 ST U1 uTelt B1 g 7 307 JUS
SR &1 HIST g7t | 3T

Ques 10. ANS (A) Solution:

ATAgId SREUTR (RarHerR) H fRUd YRd &1 ISl giug
3 81 I8 TP UATTE ¢ | I8 SO SR &A%d Gl ot
ThR ¥ TRMAT BT Jo BleT 3 € 3BT IS A1 B

Ques 11. ANS (D) Solution:

FAAGR! TH UHR BT 1Y I Ue a1 sdler-MeS it HUST §,
S SEHET SR YRR I 318 TSR & Ageia-y SR
AT # ST Bl § | 59 URURS fereba HeRTY -
IR, TORTel femaRY Sy TeRT —cuieft s daaedR],
HaRT AR — WEHT H13 BIET UIEH S —S1he],Breare
IEECR]

Ques 12. ANS (C) Solution:

fGER 1947 I U STHDHY & SHTER YR PT Afdu™ forae
ITelt AL 9T § deaR & 91 389 Wl H 299 W &1 X8
T | Wiy Tt 3 7m 93 9 fGuER, 1946 BT g8 M
AU TUT Y 13 FTTER 1946 B g 6 T ST IS TG
o1 R} 3reget g1 7T S 6% B SATER A A8 gRI U
T T IE=T TRAIg” YR Tfau 1 ukdreH §41

Ques 13. ANS (B) Solution:

IR offd A JSt v faivar g | ERaR®Ie T8vrs
RO & TG T @ 3R T8 DI YRUT §1 B & g1 T8
R & =29 B BT Uh A1 ¢ 31yfd ST 31 U |y et
38 e B B B

Ques 14. ANS (C) Solution:

gfe=r et Afae <gferd e TR A s g & R
SeRaH Uglisal o aifedl iR fyd 81 ugd 39 I & RRI
AT & A Y ST ST AT | T8 TR &1 ey §87 egferd e
21 a¥ 2007 § U8T SIRTT GHRIE HAET S @, oI 38T
qded &1 Sgral ¢ Tl

Ques 15. ANS (B) Solution:

AT &1 Yed S & oIt <g-aH 3M1g 21 I8 3A1a%9e § | AH
YT HT Y g1 & o fdd &1 Y 18 T8 I S gt
MRTI UTH U e BT URd & AU H Jabg-243 (&) &
Tea uRuTid farar mar g1




Ques 16. ANS (D) Solution:

Ques 17. ANS (B) Solution:

Ques 18. ANS (D) Solution:

gy T R A 27 JaATS, 2023 B S e & W A
H HRA HSUR A SRS UGRI1-Hg-FHIeH H% (IECC)
URER &1 Y P! G fobaT| Hoa Igared ARG H Sit-20
RyarepT 3R fepe 1t SR fopa | Igures & ERM, gy Hft
HIG A Y H W TR P 1 ORd = & forg w1 I,
FST UAT 3, IST HTH B’ & VB0 b W &R e

Ques 19. ANS (C) Solution:

SeiPTs qoT Bl SNRTATS ARIDBT YD T BT ITIN "I
T2 Ue R e & fog 2023  wfaf¥d meed hafer
RS REBR | T e a1 § 1 39 U1t Ugd, 3
T UBT TS GBI B H BT BT AT AT U,
FPB UHTAD! B R TR TR T 39! i R
g T, i I8 vl “aifeferars” et &t

Ques 20. ANS (B) Solution:

Y o AT fgHd favaT WRAT = 26 WRaRT 2023 Bl A &
FHEY T & AR § gaiR YR 1 ugel! Iuifsa sy
T4 RS &1 IgdTeH fhdT| 39 §49 &1 IdTe &HdT uid
o Uil fe TUifea S g1, St = I7d o TR, TR
0 & 319 B 3nfe ¥ IdTfed DI Aeh|

Ques 21. ANS (C) Solution:

AETEpifa’ BT ST et SUpifa’ | §1 I8t Jay @ia’ &7 Y
I3

Ques 22. ANS (A) Solution:

Ans. (a) 54 wa0, T
A—"5RB M—15[N
L—1M E—» F
M—L N N_1,0

+1 I\'_‘:l"; 18
0O——=p .

H A—— B
N———O

. [‘___:l__; M
D—SE —

#i: MENTAL' &1 24l § NFOUBM' ferl S|
Ques 23. ANS (A) Solution:

Ans. (d) UF T & 3 i A § @ wa i g
ol 31 ST T T W S 3 9 el o
fofi w4 -

1557 6

4308 3

SEERE 2

ferem = i &1 fawdia g @ o Her o W &
ol & |

g | 0| foew (d) iR

Ques 24. ANS (A) Solution:
Ans. (a) &1 T HGAr faad 8-

2 6 12 30
I t
+4 +6 +8 +10

FHa: |2 =20

Ques 25. ANS (D) Solution:

Ans. (d)
R

T U s K
(a) (b) \
v v v

T

13

o o P
MK

(© (d) l J

L 4 L J Y ¥

1 I
mﬁa?q(a)lgb)am(c)wwamnwaﬁm%
1 fade (d) 999 Hem § F: fowed (d) =61 g
Ques 26. ANS (D) Solution:
Ans. (d) 38 @sfFai P, Q. R. S. T 3R U 3 dfsai #
I RN &Y O g I A &

— 2 e
=z

TR,
PO ) -
t |t 0t
I S 9
t )t

R & 3% 9@ S @31 gl
HAd: fomed (d) 6t 21
Ques 27. ANS (C) Solution:

31ci: 18 Al R FTHTToIh BRIl g |

Ques 28. ANS (A) Solution:

3 TR ST & G- TR GUU I I WR faDh el (a) BT MBIl
g ufdfers sHE|

If the mirror is placed on the right side of the given figure,
the figure in option (a) will form a correct image.

Ques 29. ANS (B) Solution:

.-\ns.(b)ﬁifﬂw,
1 2 3 45 6
M U C E
S ME UL
3 1 6 2 5
34 yaw,
1 2 3 45 6
O N DE R
[DNWR O H
4 3 1 6 2 5

Hd: 2 = DNWROE
Ques 30. ANS (B) Solution:




P

F & gl 'P' Hi E' F1

d: foey (b) 931 31

Ques 31. ANS (A) Solution:
Tt et &1 Sa O 5 T § 5 e (a) 1 STy e
T UyarEsd g (7) & RIF W A 3 [dwed (a) T8 B
Looking at all the options, it is clear that the figure of option
(a) will come in place of the question mark (?) in the series.
Hence option (a) is correct.
Ques 32. ANS (B) Solution:

Amns. (b) :
59 53R,

23 x 13 =299
341 FFR,

24 x 13 =312

Ques 33. ANS (A) Solution:
Ans. (a) : STAMER,

& .y
v v
<> ap ap ar
'
v

(i) NS (i) NS (i)
EIGH H?FIGIEETH@MEH qs@lwaﬂmasww
T AEA BEeT (a) ST RaE a3
Ques 34. ANS (C) Solution:
Ans. (c) : 591 &

S
@—-
# o x
$ =
YEAHER,
46 '23#2183 @ 17
46 +23 x21+3-17
{FEAR e &l ORada & W)
=46+23xT7=17
=46+161-17
=207 -17
=190
Ques 35. ANS (A) Solution:

Ans. (a) : FAHER , T & T 99 W F5 3 AR R

Fh 434 W -

ek ﬁﬁammmﬁmn‘m 31 8
Ques 36. ANS (B) Solution:

fe‘,q Ry ecl 1 A H fores ;- (4) Sealed, (1) Season, (2)
Seating, (5) Seize, (3) Sense 3Hd: fawe (b) Fl'sﬁ%l

On writing the given words in the order - (4) Sealed, (1)
Season, (2) Sitting, (5) Seize, (3) Sense, hence option (b) is
correct.

Ques 37. ANS (A) Solution:

Amns. (a) : 9¥ATHE,
+3 . +3 +3 +3
D G > 7 >M >Ip
N3 »Q B3 r 3w +3>z
K _ 3 .N +3\Q 3.7 3w
B +3 E +3 H +3 K +3 [N
3 594 g & ®IF W PZWN 3R
Ques 38. ANS (A) Solution:
Ans. () : FAER ARG
St
A T ‘T & S 8l
Ques 39. ANS (C) Solution:
Ans. () : T TR, 34T IFR,
L +5 Q N2 g
G +1 > H D;]') E

S _} x P— 5 |U
Ak ¥4 B F T@E W SEU A
Ques 40. ANS (A) Solution:

Ans. (a)
(143
192 179 162 ? 120 91 60
l N | NN | N | | B | -
17 23 29 31
7

:n'c' SRUYL ST9TSA e ST T &
Ques 41. ANS (C) Solution:

TET B n gY FE NS,
:WW(M r)
100
TEI W, n= 399, Td r= 3%
3T 399 =2 SEEE = 30,003000[1+%J

103x103x103

100100 %100
= 3x103 %103 x 103 = 3278181

Ques 42. ANS (D) Solution:
T FT Y H . G,= 575

= 30.00.000x

fa.q.=" 506

B = .9, fa. T,

=575-506

A = 69

A% = Ll %100
%

=% 100

575

= 12%




Ques 43. ANS (C) Solution:
10%, 20% I 21 FfFS T2 F T2 TG T
~10x-20
100
-30+2=-28%
T 5% T2 & a8 Ao ael §d 9
~28x-5
100
33+ 14--31.6%
A 31.6% 1 T fHer
Ques 44. ANS (B) Solution:
A 5 B 18

—=— M —=
B 8 Cc 25

=-10-20+

—28-5+

Ques 45. ANS (D) Solution:

fopdll PR 4 A, C TSl ty 999 & [0 B, Cz
Tl tp T & feTT C, Cc T tc THF & foTw @ & 7@
A H I
Py :Pg:Pe=Cats: Cgtg: Cete

20 : 18 : 21 = 350000 = 12 : 60000 = (12—x) : 70000 *
(12-x)
20:18:21=60:6(12-x):7(12-x)

20 60
18 6(12-x)
x=3
Ques 46. ANS (C) Solution:
afe
/\W
1 3
ml lm
16 48
R P
16 48
34141
R
A I G HA H T T = 12

3 3T FW & H o W =%:6 fem

Ques 47. ANS (C) Solution:

SR ]
1G] et
17 9
\ /

-, 3 :-
305 @ FAAA H el gm
Ques 48. ANS (D) Solution:

TR T 3R 1 R A i =

15

Kmlﬁﬁzwmﬁmﬁzz—l‘)m

TET 1A K ZR 1 6T H A T A =

15 20
- 4+3 7

© 60 60

P 60 _4
Eﬂmmmqwm:7=8?ﬁﬁ?

Ques 49. ANS (C) Solution:

2W3W=2+%

-

4

3 W = X
100
B 230062
I B A A = 4
100

- 133750

2

Ques 50. ANS (B) Solution:
A 3ER & T g = x

Thafg T = e - Fer
A = TERI(E AT ~ TR =0

TEAFER, x[(um] 1}{”9"3}1952

100 100

r 3
=x [E] —1}[“9"3}—1952
10 100
Sy g || X3 g5y
1000 100
L, [1331-1000] [xx9x3]_ oo
| 1000 100
Sy k|2 g5
1000 100
x(331-270)
1952
1000
:»”601:1952

=x=32x1000= "32000

Ques 51. ANS (B) Solution:
w1 P e Q 1 B a¥ 9E 3WF 3x 7T 2x
P 7T Q T an| F (3x+6) T% 74T (2x+6) T
3x +10 _E
2x+10 7
21x+70=16x+80
5x=10
x=2
P =1 ao"= 31 = (3x+6) = 3x2+6 = 12 @5

Ques 52. ANS (A) Solution:




W ol ZEh it A S e x, yail
z# ™ x<y<z
FFAIGER,
= s 5 A = 28 x 3
x+y+z=84 ()
z-10+y+x+7 NI

-

3
X ty+z—3 =3y
Xx+z=-2y=3...@1)
z=10-x-7=20

0 6), = @) I T ) 2
x+y+z=284
2z-40

z-37+ +z=84

2z-T74+22-40+2z=168
6z=168+114
6z=282
z=47
Ques 53. ANS (D) Solution:
! 5h

fm
A 1w = 55 RS
T B % wrer = x kmhr

.
RS
X

3
- < —
x =535x 5
x=55x1’6:—6
x.§xﬁv
x-5—65J3—61un"hr
Ques 54. ANS (D) Solution:
¥99 F,
g 435
o= = =—km/h
T 24
435x2 5 .
= Xe— M/S
5 18
433

=—=483m/s
9

¥ toEt o 9 =483 mi/s
Ques 55. ANS (C) Solution:

= % IR o IR 81 § = %=7.5km'hr
aﬁ&sﬁaﬁ}ﬁ:éﬁﬁﬂﬁ=% =12 km'hr

12+75

for ot § @Rae By i = =975 km/hr

Ques 56. ANS (A) Solution:

R A7 &1 TR =4 em SN SEE =2 em
FEE FH IRAT =24 +2)=12 cm

« T B o oRtATT =3 x

VB B

2 3 -
=—x(4) =—x16 =43 cm*
T = B

Ques 57. ANS (D) Solution:

T 3 R R w125

a+ar+ar +ar’ +ar’ + @’ _ 152

a+ar+ar’ T125

a(1+r+r2 +r +r4+rj) 152

a(1+r+r2) T125

14 =12
125
}*3 :E_l
125
5 152-125
F =
125
p=2l
125

F==
5

Ques 58. ANS (B) Solution:
R BT ) S ) b el Fer TE 3R 8 TR
R TRl =12+ 12=24
Number of students who like to play basketball but not
tennis =12 + 12 = 24
Ques 59. ANS (B) Solution:
sinf-cosf=0 l sin‘0+cos’o+tan‘e
H B
sinf-cosf=0
sinf=cos b
6=45°TsinO=cosb
§=45° FH T
sint 6 = cos*6 ~ tan' 6
= sin* (45°) + cos* (45°) + tan* (45°)

4 4
1 1 4
(3 o
=l+l+1=2+1=1+1=
4 4 4 2

ra | W

Ques 60. ANS (B) Solution:




A fag @ i (xy)
(x.y)= mx, +nx, my, +ny, s oo & W 4,
m+n m+n
x=-5 x=7 x=7
yi=35 y2=-3 y=2
v) 3x7+1x(-5)  3x(-3)+1x5
X, = .
%3 3+1 3+1
_(21—5 _9+5J
4 4
_(]6 —4]
474
=(4.-1)

H: &g 1 [deiE (4.-1) B

Ques 61. ANS (D) Solution: Judad TR & Rad RIF (1) &
fore Faffe Suged Tes IS’ BT 3rd: qUf a1ed gIT-
85T Uh T HTd 8, ST MU 4gT & gcd H gH 4ga 9
3o o g a1d et argd |

Ques 62. ANS (A) Solution: IUJad TRITT & Rad ®IF (2) &
fore waifies Iuged Wea FHTST BTN 3fd: QU e RTI- T
RUT $HRd GU BH 30 B! 3 THTS H THera 8, fora fopeft afwr
R-TTE 9 AP Y H 3P 3f=vid = i g1

Ques 63. ANS (A) Solution: W—WWWWW
Tl =1 A Tob — 3Ty Forgs g smem a7 faw =1 &) - 3ramy it
TYT T O G — T S HigTg | U=l &l - TRF

Ques 64. ANS (C) Solution: XI5 — faeliH &g — HY HHUT -
Ques 65. ANS (D) Solution: GgIaRT — 372 g1 TR TRAT - TId
FAT T T - SETST T fAADBT AT HRAT - BIST a1 Bl
TSI T SMTS-31S 3G T - faamT w1

Ques 66. ANS (B) Solution: g - fadA Gﬂﬂ's’— Gﬁlﬁ's’ﬁ?_e'
- fire =7 - oifde Fmer - il

Ques 67. ANS (B) Solution: &2 T faseat & RfagiRie’ ad-t
DI W Yg Teg 51 3 It [Ipey s &

Ques 68. ANS (C) Solution: TgTaRT — 31 ATeh—Hf Ryeprs -
YOI AT 1Y T &1 7 HAT - THS HRAT YIS T — oI
T ST SSMT — FRT BT

Ques 69. ANS (B) Solution: & T a1 TR Ut 3 wemER
&) uF foryr oz fory @t w9 b Waiehh argf §1 @t
Hdl & TR fohar et T1feT | 3fck: Y aTad - IR frar 3
EEIBIER AR ERTSRCH

Ques 70. ANS (A) Solution: & TR a1 # Rad R &1 fd
& foTT TaY IUYA Teg ‘B G| 3fck: YOI a1 BRTI- B Th
¥ 9 3! Udhen o1

Ques 71. ANS (A) Solution: TR Udh Teg forae! I
YT A 8 - HEF S Upfa Gaieft 81 a1 uepfa 71 - wrpfae
oraet IRy 3/ A g3 8l - 3isw o fobafl d=1 o R1aR g
ST BT 3R 31T off WTaT B - 3raife

Ques 72. ANS (B) Solution: WW@%@T?W%
3ERY SNl JTd 1 BT 31T oIl GaT A o Wb 3R fo1 gadh
fiRTe erfAAy

Ques 73. ANS (C) Solution: Rleq JHg Udh Mo do QhETE‘T
IS Rl § - STER] el Wb g+ aTall - BagR! 7 &
SR HRA a1 - HARRY foras | = e g1 | aref -
RIGIN]

Ques 74. ANS (A) Solution: fGT 7T a1 ‘a8 §aRT oI ¥ 3feT
71 YEifed TS & R W IUYad Rk 1Y I 31 gof
Ui Y T HTI- 98 SaRT ST & |

Ques 75. ANS (B) Solution: %QTTQEITEN Fﬁé’-’-lﬁ@’é’:f fR-
¢ g e 21 H 1S Ffe TS B

Ques 76. ANS (B) Solution: faroTelt &1 TR RTeg—HiGTHT,
ORI, S5aS, dad, 99T Salfe | ARt a1 JHMTT Weg
gl

Ques 77. ANS (B) Solution: XIsg fad 4d <A™ 34 =i
Ques 78. ANS (B) Solution: R R &1 A & forg we
JUgad Teg "TRATE’ BITTT| 31d: U a1 BT He®l &l g TR
R B, 98 foell &1 uRaTs 15T

Ques 79. ANS (C) Solution: "TTT T FATRT GHT TGTART BT
312f-&f0T HIR BT

Ques 80. ANS (D) Solution: GTeRITY Ueh Xeg G8 STd Sl
SR H et 37 & 71 faedt

Ques 81. ANS (C) Solution: JTRIad passage CRGED SR
¥ ®IM (1) H ahead (M) ST YIRT UG g1 3 fdaved
firsr 31f 3d B 1 Correct sentence — ..... and trying to be one
step ahead of others'

Ques 82. ANS (C) Solution: IWIad passage & UG B STIAR
e ®IM (2) T Break (faRT) &1 WIRT Iugad giM | 311 faded
fiysr 312 &d 1 Correct sentence— ..... Take a break .......

Ques 83. ANS (B) Solution: IWRIad a1 H return home &
R WR returned home &1 YA T Fifdh drank @{W%W
IR B UG clause Past B g1 31d: S & 3R second
clause WEJ,HHEﬁTﬁI

Ques 84. ANS (C) Solution: IR idiom, games is up E2
ﬁ‘lﬁﬁw (c) Deception is at end WWW%I 3
famed fir aref A B

Ques 85. ANS (C) Solution: JURIe aTe o I@ifdd HIT as
well as & RIM TR But also &1 JaNT 81T Fifds Not only — But
also co relative conjuctionémmwwqm %‘I
Correct sentence — Reading not only helps to pass the leisure
hours But also keeps you well informed.

Ques 86. ANS (A) Solution: Never— Ht 'Tﬁzpl Antonym,
always - TR 3= fadedt & ared- Rarely — QG &1 HHl
Sometimes — dHI-HH Seldom - FH-FUR

Ques 87. ANS (C) Solution: JURIe aTed o Rk RIH H
Appearance (JURIf) HT TANT IUAd 8ITT Fiifch AT & UG
& TER Iugad 3 TaT B 1 o fachey fird orf 2 B
Apportion — HIT AT Apparition — Hd - ud Apprehension —
BT/

Ques 88. ANS (D) Solution: JURIa fdsbedl H & fdded (d)
begining CARCRE &I'-‘{l_c&"% 3{d: sﬂaﬁgaaﬁ'—ﬁ beginning
(3T HRAN gft | 3 fadhed! &t It LG 81 Buying —
Qe Bouncing — 38Tl Boxing — Hﬂ%ﬁﬁ

Ques 89. ANS (D) Solution: JURIS dTeRI H whether (GHI H
Y HH ) & A W if @fe) o1 TN Iugad grm Fifes are
Rk SIAR 3Ugad 31 T8 Correct sentence — Do
you mind if | use your telephone.

Ques 90. ANS (A) Solution: Retreat i gcHl, Antonym —
advance — 3 37 fdbedl & 31— Push — YFHTHT Promote
— §GTaT T Strengthen — ASTgd ST

Ques 91. ANS (A) Solution:

No substitution required

Ques 92. ANS (B) Solution: IWIFd Group of words 'Life
history of a person written by someone else’ % fAIT one word

fd@ e (b) biography (ST SUgad 81| 3= fadedl & 32—




Autobiography — TH®DYT Biodata — \_rﬁa:l—q’ﬂTH Resume —
& faaror

Ques 93. ANS (D) Solution: Retrieve — g-T: UTtd &R,
Synonym — Recover —3le g1 3 fawedl & o g B-
Remove — §CHT Retain — §10 I@T Rescue — §A1@

Ques 94. ANS (B) Solution: IWRIad a1 H called as a
vaccine & ®ITF TR cal las vaccine &1 JaNT I Fiifds aTa
present tense 81 Correct sentence — Millions of people have
been protected from polio by a fluid call as vaccine.

Ques 95. ANS (D) Solution: Achieve — YT &I, Synonym —
Accomplish — ORI HAT 3 fa@ed & 31 Accuse - 3RIT
Adjoin — S[ST 8T Abduct — 3T HAT

Ques 96. ANS (D) Solution: SR group of words 'A
person who physically attacks another & T one word
a3 e (d) assailant (ITHAUIBRY) IUGad BRT 3 [dhed &
31— Convict — ORI BT AT Culprit - SORTIER Scoundrel
—- JGHRI

Ques 97. ANS (C) Solution: IR IR P IGifd HAT
Training & R W plundering (T &1 YA ST Hifdh
IR & UG & TR Iugad 31 a1 81 3 faswedi & ardf-
Disillusioning — AIIH & &1 Distilling— Y& BT
Mischallenging — TTeTd ?ﬁl?ﬁ Correct sentence — 'Angulimala’
lived by plundering travellers and feared no one.

Ques 98. ANS (C) Solution: SR group of words 'one
who has fixed opinions and beliefs" %ﬁﬂ one word fd&eq
Rigid (Al IUgad I 31 fdded & 31t~ Broad — minded —
MU fdaR aTaT Flexible — TAT Amiable — Ritd

Ques 99. ANS (C) Solution: JURId ATRT & HTd & STIR
e ®IM & Invited (3MHEAT) BT BT TN Iugad 8RN 3=
fawey g o & %I Correct sentence — candidates who
successfully complete the entrance test will be invited for an
interview next week.

Ques 100. ANS (A) Solution: IWIE idiom 'Drag one's feet
& fore faewed (a) do something deliberately at a slow pace
SRS AT Fal 8| 3 faswed i o 3 g

Ques 101. ANS (C) Solution:
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Ques 103. ANS (D) Solution:

Ques 104. ANS (B) Solution:

Ques 105. ANS (A) Solution:

Ques 106. ANS (C) Solution:

Ques 107. ANS (D) Solution:

Ques 108. ANS (A) Solution:

Ques 109. ANS (C) Solution:

Ques 110. ANS (A) Solution:

Ques 111. ANS (C) Solution:

Ques 112. ANS (B) Solution:

Ques 113. ANS (B) Solution:

Ques 114. ANS (A) Solution:

Ques 115. ANS (A) Solution:

Ques 116. ANS (D) Solution:

Ques 117. ANS (D) Solution:

Ques 118. ANS (C) Solution:

Ques 119. ANS (A) Solution:

Ques 120. ANS (A) Solution:

Ques 121. ANS (C) Solution:

T YTl R & ST, ik B el SebdT| T8 Uh THT Ih &
Il SeH 4R =Tl X641 §, SO 3 IR <0sh Bl &Il g
3RYIRD Fep' BT =T H IR TR A &

A H T ARTH T Aaridl Bt HHI 1 T idiHied
3TAIH T &b HRUI T BRATS I &l offcl B

3fdTe: U8 U &d 1 Iudisd H g1 TRUI 8| I U Siid &l
3T T&T P 3R URT B & oY T Tad Wieie- & &9 H
BT BT T | T8 I 19 B U & o R & g erroft
T 3P T =M 3IR JyaT B

UIcTe: BT ¥ GHRIAD URUIH T fdd 1 T q6T U
HA & forg Uk v T T WicTe & =4 H &1 o 8 | I8
faRur 1 a%q § S AER BT Wichd, R 3R ST 3@t
gl

TeT: 3 YHRIAD TN THRIAD 8l Tbd & | JPRIHD &g I
B & O et o b3 1 BRI Hrar 8, 9 fb T,
HISH, Ghadl ST | THRIHD A6d 3 BId & oY Safad s
T U P BIRALY BT 8, S b -1 RS, 3romH, <5
31|

Need

Motivational

soal Dr

Cycle

Incentive

A person never stops after achieving a goal. It is a cycle that
continues throughout life, hence, called the Motivational
Cycle.

The Motivation Cycle is comprised of four stages:

Need: A need is a lack of necessity. An action gets initiated
because of an underlying need.

Drive: It is the second step in the achievement of a goal. It
acts as a persistent stimulus to push an organism towards its
goal. It is the state of heightened tension leading to the
behavior. It has a direction and valence.

Incentive: Positive outcomes from actions act as an incentive
in motivating a person towards achieving a goal. It is the
object of the environment that activates, directs and
maintains behaviour.

Goals: They can be either positive or negative. Positive goals
are the ones that a person tries to attain, such as
relationships, food, success, etc. Negative goals are the ones
that a person tries to avoid or escape from, such as
embarrassing situations, insults, punishments, etc.

Ques 122. ANS (B) Solution:

gfauTRel = 3 St B Teffd FRd § St 3 TgdhHl uHg
F ST AN DI JAT o SRATYRY FU J SR Rl g1 J 30
ol # T i § Hifeh I U S9d dlfchep 3R TS




qa 8l

TRTHTRITC S SRR &0 § SRy 81 & 3fR 3ot Td
T & Iy S & o I U A 1 SBI WA 81 T
3R U ¥ I ATH-THH T IRd a1

YiTHTRITeR Sl & '1.Q." 1 Tt AT S & foTg 1Q dTfereh
RGH

o qUHTHS FATHI0T
0-25 5 MY Hegfe, e
26-50 TR ¥0 ¥ Heglg, oS g
41-55 Ha
56-70 B S, Tl Hagf, P
feAmT aren
. it 1 T URgH aran, Heal & 4]
W R, g9
86-115 HHE, 3ired
116-130 diagfg
131-145 afcryTEC
j}'}gi PIGEIGIE]

Gifted children refer to the children who perform tasks
extraordinarily when compared with others of their peer
group. They are independent in their judgments as they
possess advanced logical and creative thinking.

Gifted children are exceptionally curious and have a thirst for
knowledge in order to satisfy their own curiosity. They are
intrinsically motivated with high self-esteem.

Refer to the IQ table to know the correct range of '1.Q." of the
gifted children:

Range Descriptive classification
0-25 Profoundly retarded, idiot
26-50 Severely retarded, imbecile
41-55 Retarded
56.70 Mildly subnormal, _mildlf.r retarded|

feeble-minded
1-85 Slow learner, borderline, moron

86-115 Normal, average

116-130 Bright

131-145 Gifted
a;:fe Genius
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S7ea SIRTH Y SaeROT Sfaae gRT S T ot

3foga HITH BT Rigid ggl IR fobd 7T 3 TN IR
YR &

I TRTiad foba o safad TafaRor § obd UId &3d § 9k
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The concept of latent learning was given by Tolman.

His theory of latent learning is based on his experiments with
rats.

He proposed that individuals get cues from the environment
and then use those cues to build a mental image or a
cognitive map.

By using these cognitive maps, individuals reach the goal by
manipulating the environmental situations and the suitable
responses.

Ques 124. ANS (A) Solution:
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3T 39% forg IR STae SR TG T SR faaT
I o IR THRI & IR T 974 1 3 A &

(i) TTITeTT UBR:

YRI IR & YR a1 T AT G H BIe 8d 6

SIHCIAAT YHR & FANGD I & RIGR g B 3= JUTGET
g

(i) TdeT BT UPR:

U fad ifamRid AU & 91y dd R gdd gid gl
WY & IR 31 "RFpoizs” & U § aiflerd fosar I g
3R I8 Rrehbfar &1 fiwR fasRid 8 g 3

(iii) TSI BT YHR:

2 UMY YebR b B4 & SR 37 3l awe W [ wimafRmt
Bl § SR 3 7 3 it il © SR A 81 BIC

YRR 3R id WHTE & B & IR JTaraRvl § g aret aRadHi
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3 907t & 3 N7 A § o SR aftfa foet of fasar &
TER e R 7, Al N TR & fryor )

Personality:

Self and personality refer to the characteristic ways in which
we define our existence.

The literal meaning of personality is derived from the Latin
word persona, the mask used by actors in the Roman theatre
for changing their facial make-up.

Personality refers to our characteristic ways of responding to
individuals and situations.

A number of approaches and theories have been developed
to understand and explain behavioral differences among
individuals, and behavioral consistencies within an individual.
Explanation:

Kretschmer was a German psychiatrist who on the basis of
his observation of patients classified people into four types.
He used the physical constitution and temperament for this
purpose.

The four types he talked about included:

(i) Pyknik type:

Such people are short in height with heavily built body types.
Kretschmer called them “cycloids” as they have a high
probability of falling prey to the manic-depressive type of
psychopathology.

(ihAsthenic type:

Such persons are tall and thin with underdeveloped muscles.
Temperament wise they are categorized as "schizoid” and
may develop a disorder of schizophrenia.

(iii)Athletic type:

These are muscular types and have well-built muscles and
are neither tall nor short.

They have stable and calm nature and are able to adjust
themselves to changes in the environment.

(iv) Dysplastic type:

This category includes people who do not exhibit any of the
characteristics mentioned above but are a mix of all three

types.
Ques 125. ANS (D) Solution:

faferam S

TohRiaTE 1 RITUAT fafermm S 3 oifiesT § g1ds faufaened
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S f&dt:
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William James:

Functionalism was founded by William James at Harvard
University in America.

William James was an American philosopher and
psychologist who also trained as a physician.

William James wrote a book for the study of psychology
called "Principal of Psychology".

John Dewey:

John Dewey is a great philosopher, educationis,t and thinker
of the modern era.

A critical starting point for functionalism was the publication
of John Dewey's article The Reflex Arc Concept in Psychology
in Psychological Review (1896).

James Ronald Angel

He has given a clear explanation of functionalism.

James Rowland Angell advocated structuralism and
functionalism as two opposing forces.

According to him, where structuralism is related to 'element’
or 'object’, functionalism is related to 'process'.

Ques 126. ANS (D) Solution:
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It was discovered by Ivan Pavlov, a Russian physiologist.

It involves pairing a neutral stimulus with an unconditioned
stimulus.

It triggers an unconditioned response such that a neutral
stimulus will become a conditioned stimulus triggering a
conditioned response similar to the original unconditioned




response.
The unconditioned stimulus (UCS) produces an
unconditioned response (UCR) in an organism.

A stimulus that produces no response (i.e., neutral) is
associated with the unconditioned stimulus at which point it
now becomes known as the conditioned stimulus.

After Conditioning the conditioned stimulus (CS) has been
associated with the unconditioned stimulus (UCS) to create a
new conditioned response (CR).

Ques 127. ANS (A) Solution:
Ffeic A9 e et fa 3t faRivansfl & A I )
HfdTTa 3fieT Afdid AU B Afdaire A 3
FfFIRS gl &1 o & & 5w safad &1 a5 Udhe oA ot
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I AfHIT B! Yhe Fd

Personality measurement refers to the measurement of a
person's characteristics. Personal history is the subjective
method of personality measurement.

The subjective method means that which individual is
permitted to disclose what he knows about himself.

It includes traits, attitudes, personal experiences, aims, needs,
and interests.

The subjective method includes personal history, case
history, interview, and the questionnaire.

Personal history includes the events of a person’s life that
occur in their life.

In these experiences throughout his life, his present aims
interests, and attitudes are included.

The individual has freedom in selecting experiences that are
important to him and these reveal his personality.

Ques 128. ANS (C) Solution:
fIP™ & Teagyf WE:
& 3R ™ ¥ < Rigid & a1 89 o8 9% ¢ & a1a faem
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Predictable Patterns of Development:

There are two principles of growth and development or we
can say child development takes place in two directions, one
is from the head-to-foot/toe direction and the second is
from center to periphery.

The Cephalocaudal Development: It exhibits that the
development proceeds in the longitudinal direction i.e. from
head to toe. That is the reason why a child first gains control
over the head before s/he starts walking.

The Proximodistal Development: It proceeds from near to the
distant and from parts of the body near the center develop
first then the extremities. Therefore, the child in the earlier
stages of development starts developing the fundamental
muscles rather than the smaller muscles or fine motor skills.
Ques 129. ANS (C) Solution:
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Social constructivism is founded on the thesis that social

processes are central to learning and cognitive development.
It regards knowledge as a social construct and prioritizes the
social aspects of learning and cognitive development.

Some of these social aspects are language, culture, everyday
practices, material objects, interpersonal interaction, peer
interaction, tools, and symbols.

Flexible curriculum, flexible timetables, flexible mode of
assessments, flexible seating arrangement, learners working
in groups, etc. are characteristics of a Socio-constructivist
classroom.

It emphasizes providing students with a democratic
environment to make them feel comfortable in acquiring
new knowledge and information.

Socio-constructivist classroom lays emphasis on collaborative
learning which refers to a situation in which two or more
people learn or attempt to learn together in a group.

For example, Giving students the opportunity to discuss their
experiences of celebrating festivals in the classroom and
building upon that information.

It is a method of teaching and learning in which students and
teachers team together to explore a significant question or
create a meaningful project.

Ques 130. ANS (D) Solution:

There are five main cognitive processes:




Attention: Attention is focusing of consciousness on a
particular object. The span of attention varies from individual
to individual and depends on various factors.

Perception: Perception is a process of selecting, organizing,
and interpreting sensory information based on previous
experiences, others’ experiences, need, or expectations.
Learning: It is a “"relatively permanent change in behavior (or
behavior potential) resulting from experience.

Memory: It refers to the ability to retain information and
reproducing it over a period of time when required to
perform a cognitive task.

Thinking: Thinking is a higher mental process. It is a problem-
solving process in which we use ideas or symbols in place of
overt activity.
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Classical Conditioning Theory:

It was proposed by Ivan Pavlov. According to classical
conditioning, we learn by making associations and
relationships among various stimuli. During classical
conditioning, organisms acquire information about the
relations between various stimuli, not simple associations
between them.

The subjects of learning in this theory are always some kind
of automatic, involuntary or reflexive responses such as heart
rate, salivation, vomiting, pupil dilatation, etc.
Stimulus-Response Theory

It was proposed by Edward Thorndike, who believed that
learning boils down to two things: stimulus, and response. It
is a theory that proposes that all learning consists primarily
of the strengthening of the relationship between the stimulus
and the response.

According to him, learning is by the association between the
stimulus (presence of the lever) and the response (pressing
the lever). Mainly these theories emphasize providing a
conducive and supporting environment to facilitate learning
with intelligently manipulated reinforcements.

Operant Conditioning Theory:

Skinner propagated an operant conditioning theory related
to the stimulus-response relationship and reinforcement. In
his view, learning is a change in behavior. As the learner
learns, his\her responses in terms of changed behavior
increase.

Learning is, therefore, formally defined by him as a change in
the likelihood or probability of a response. Operant
conditioning is a learning force that affects the desired
response more frequently by providing a reinforcing stimulus
immediately following the response.
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Normal learners are those students who appear physically
and mentally healthy and adjust to the normal process of
learning. These children have average or above-average
qualities.




Learning disability is a developmental disorder which
becomes conspicuous when children go to school. In spite of
their average or even above-average intelligence and
adequate schooling, these children lag behind in their
academic skills.

These children have fundamental difficulties in the
monitoring of basic psychological processes, such as
attention, perception, memory, logical thinking, and so on.
However, before giving diagnostic labeling, one must
exclude the possibility of other developmental disorders such
as mental retardation, perceptual problems resulting
primarily from impairments in vision, hearing or motor
disabilities, emotional disorders, mental retardation, global
developmental delay; nor should it be due to environmental
factors such as deprivation, abuse, or poor schooling, lack of
motivation, cultural or economic disadvantage and linguistic
diversity.
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When a teacher presents the subject content in different
ways by involving a multi-sensory approach which includes
visual, auditory, smell, and touch and also takes care of their
interest and motivation it helps all types of learners including
children with special

needs in the classroom resulting in the most effective
teaching.

Effective instructions need to respond to the characteristics
of a diverse group of students as well as be precisely tailored
to the unique strengths and needs of each student.
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According to Goleman, the skill of ‘'understanding others’

comes under the social contract dimension of emotional

intelligence.

Goleman defined emotional intelligence as a person's
capacity to control their emotions and express them in a
healthy and productive way.

The most significant predictor of success in the workplace, in
Goleman's opinion, is emotional intelligence.

Goleman describes it as "the capacity to recognize, evaluate,
and regulate one's own, other people's, and collective
emotions."

Goleman created a performance-based emotional
intelligence (EQ) model to evaluate employee emotional
intelligence levels and pinpoint growth opportunities.

Thus, it is clear to us the ability to "understand others," in
Goleman's view, falls under the social contract dimension of
emotional intelligence.
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Types of thinking-

Divergent thinking- It involves breaking a topic down into
various component parts in order to gain insight into the
various aspects of the topic.

Creative thinking- It is the thinking involved in creating new
and novel ideas or objects. It involves rearranging the
existing stimuli to create something new.

Deductive thinking- It claims that it's logically necessary that
if the premises are all true then so is the conclusion. If
deductive logic is used accurately and correctly, accurate
points or arguments will lead to an accurate conclusion or
result.

Logical thinking- It is the process in which one uses
reasoning consistently to come to a conclusion.
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Lev Vygotsky has proposed instructional scaffolding.

Vygotsky used this term to describe social and instructional
support provided by MKO to children to learn new concepts
and skills.

Once the skill is learned by the children, the instructional
support is withdrawn. In Vygotsky's view, 'scaffolding’ refers
to a process through which required assistance is given to
children according to their individual needs.

It imparts temporary support to the children to enhance their
learning skills and also provides individualized support to
increase their learning boundaries.

This approach has been used to a great extent in dealing
with children who are labeled as struggling readers and is
expanding into other domains with success.

Thus, it is concluded that The word 'Instructional Scaffolding’
was discussed by Vygotsky.
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The correct sequence of phases of Bandura's social learning
is:

Observation: The first phase is to observe the behavior and
then imitate them as Bandura advocated that cognitive and
problem-solving skills can be learned by watching and
imitating others and new behaviors and experiences are
acquired by observing others in the immediate environment.
Attention: It refers to the process of paying attention to the
model to observe in order to learn. We do not imitate the
total behavior of a model rather we focus on specific aspects
that we are interested to learn. We pay attention to
significant features of the behavior we want to learn. For
example, a child learning to write in good handwriting
watches her teacher and keenly observes the way she is
holding the pen, moving her fingers, where she is using
capital letters and does not pay attention to how the teacher
is dressed or how she walks.

Retention: The ability to store information is also an
important part of the learning process. Retention can be
affected by a number of factors, but the ability to pull up
information later and act on it is vital to observational
learning. For example, if anyone is trying to bowl like Zahir
Khan, then he should mentally rehearse the sequences of the
bowling actions of Zahir after observing him in person or in
TV telecasts and forming a visual image of the actions.
Reproduction: It refers to the fact that the observer must be
endowed with the physical and psychological capabilities and
situational facilities to enact what has been observed. Unless
it is given the scope of expression, it may become extinct.
Motivation: The final phase is motivation and reinforcement.
Enactment of observed behavior would require an
expectancy of positive results. This may be learned by
observing that the model had been rewarded for the same
behavior. This factor of motivation as the external reward and
internal self-reinforcement has been emphasized repeatedly
by Bandura.
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An important characteristic of the 'formal operational stage
of mental development' is abstract thinking as in this period:
mental capabilities develop to the maximum level.
metacognition and problem-solving skills develop in
children.

children understand the world through abstract & scientific
thinking.

children become capable of hypothetical and deductive
reasoning.

Hence, it could be concluded that an important characteristic




of the 'formal operational stage of mental development' is
abstract thinking.
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Moderate Mentally Retarded are trainable mentally retarded.

These are those children who can be taught functional
academics with an emphasis on self-help and vocational
skills.

About 10% of mentally retarded persons with 1Q 35-50 are
classified as moderately mentally retarded.

They develop the intellectual skills of a non retarded 7 or 8-
year-old.

With this level of functioning, they can work in unskilled or
semi-skilled jobs under supervision. They may learn to talk
and communicate during the preschool period.

They can learn to care for themselves but do not live
independently and need care from relatives or in institutions.
They can adapt well to supervised life in the community.
Thus, it is concluded that Moderate Mentally Retarded are
trainable mentally retarded.
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The Triarchic Theory is comprised of three elements, each of

which relates to a specific kind of intelligence:

the contextual element, which corresponds to practical
intelligence, or the ability to successfully function in one’s
environment.

the experiential element, which corresponds to creative
intelligence, or the ability to deal with novel situations or
issues.

the componential element, which corresponds to analytical
intelligence, or the ability to solve problems.

Hence, it could be concluded that the Logical-mathematical
element is not a type of intelligence described by Sternberg.
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There are some important points of Creativity-
Creative person is known by his different manner of dining
anything. eg- Musician, Artist, Painter Dancer.
Creativity is the thinking Process involved in productivity of
an idea or concept that is new, original, and useful.
Creativity is worked by man which are goal directed.
It is the result of a person's divergent thinking.
Hence we can say that the Thinking Process involved in the
productivity of an idea or concept that is new, original, and
useful is termed Creativity.
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Theory of Generalization — C. H. Judd:
The theory of generalization was propounded by Charles
Judd in 1908.
According to the principles of generalization proposed by
Judd, the development of special skills, the mastery of
specific facts, formulation of particular habits and attitudes in
one situation have transfer value only if the skill, facts, habits,
etc. are systematized and related to other situation in which
they can be utilized.
The theory of generalization contends that transfer occurs as
a result of common features or general principles which one
learns in a situation. As a result, one is able to apply those
generalizations to a new situation.
Judd'’s theory also posited that the attitudes and dispositions
of the learners, such as motivation, also impacted on transfer,




and that the subject matter is not as important as the
methodology.

Hence, the theory of transfer of learning proposed by Charles
Judd is Theory of Generalization.
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A person never stops after achieving a goal. It is a cycle that

continues throughout life, hence, called the Motivational
Cycle.

Component of motivation:

Need: A need is a lack of necessity. An action gets initiated
because of an underlying need.

Drive: It is the second step in the achievement of a goal. It
acts as a persistent stimulus to push an organism towards its
goal. It is the state of heightened tension leading to the
behaviour. It has a direction and valence.

Incentive: Positive outcomes from actions act as an incentive
in motivating a person towards achieving a goal. It is the
object of the environment that activates, directs, and
maintains behaviour.

Goals: They can be either positive or negative. Positive goals
are the ones that a person tries to attain, such as
relationships, food, success, etc. Negative goals are the ones
that a person tries to avoid or escape from, such as
embarrassing situations, insults, punishments, etc.
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Motives can be classified into primary and secondary
motives. Let's Understand in brief:

Primary motives:

Primary motives are the ones that are natural/innate/inborn
and physiological. The most common primary motives are
hunger, thirst, need for security, rest, sleep.

This mainly pertains to motives involved with our need for
self-preservation. The primary motivation is known as Inborn
Motivation as it is unlearned.

Secondary motives:

Secondary motives develop as human society develops
economically and becomes more complex. Examples of
secondary motives are the need for power, need of affiliation
and status, etc.

More known in psychology as “learned” motivation, this type
of “drive” differs from one person to another. Secondary
motivation is known as Acquired as it is learned.

Hence, we can conclude that hunger, thirst, and the need for
security all are natural motives.
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According to the theorist Bakken, adolescence is a social
incident as a whole.

In adolescence there are the changes which is not observable
as physical but definitely the behavior of adolescents
changes due to social changes happening in their body and
mind.

These changes are as follows:

Conflict with family over control.

Development of abstract thinking

Attraction towards opposite gender

Relationships tend to be oriented from parents to peers.
Hence, we can conclude that according to the theorist
Bakken, adolescence is a social incident as a whole.
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Intelligence Quotient commonly known as |Q refers to the
score of a standardized test that assesses and measures
human intelligence.

The first test to measure intelligence was developed by Binet
and Simon in 1905.

Terman in 1916 revised the test and devised the concept of
Intelligence Quotient.
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Pre- conventional:

At the pre-conventional level, children learn right and wrong
from the people around them. Their conduct is determined
by external factors like approval and disapproval by authority
figures or reinforcements like rewards and punishment. Thus,
a child’s behavior is oriented towards obedience and
punishment.

Conventional morality:

It is the second level of moral development. It is
characterized by acceptance of societal rules concerning
right and wrong.

It includes society and societal rules in judging the morality
of an action and hence at this level is moral thinking based
on taking the initial perspective of the society.
Post-conventional morality:

In the post-conventional level of moral development, the
sense of right and wrong is decided by one’s own conscience
and nothing can be imposed from outside.

One may keep certain universals like value for life at the
highest order of values and may also break a law for the
same.

Thus, it is concluded that reinforcements like punishments

define moral code in Pre-conventional level of Kohlberg's
Moral Development Theory.
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Sixteen Personality Factors Questionnaire (16-PF

Questionnaire):

It is developed by Cattell. It identifies a large set of
personality descriptions which is subjected to factor analysis
to identify basic personality structure.

Cattell's personality factors are included in the Sixteen
Personality Factor Questionnaire (16PF) that is widely used
today for career counseling in education.

The subject responds to the situation by choosing
alternatives. This test is being used with high school level
students in India for career guidance and counseling.
Raymond Cattell described the following 16 personality
dimensions:

Abstractedness: Imaginative versus practical
Apprehension: Worried versus confident

Dominance: Forceful versus submissive

Emotional stability: Calm versus high-strung

Liveliness: Spontaneous versus restrained

Openness to change: Flexible versus attached to the familiar
Perfectionism: Controlled versus undisciplined

Privateness: Discreet versus open

Reasoning: Abstract versus concrete

Rule-consciousness: Conforming versus non-conforming
Self-reliance: Self-sufficient versus dependent

Sensitivity: Tender-hearted versus tough-minded

Social boldness: Uninhibited versus shy




Tension: Inpatient versus relaxed

Vigilance: Suspicious versus trusting

Warmth: Outgoing versus reserved
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Gender typing is the process through which children learn
about their gender and behave accordingly by adopting the
traits and values of people they identify as belonging to their
SEex.

For example when a boy grows up, he identifies himself as
the male gender and strives to be the stereotypical man. It is
a method through which a child discovers and expresses his
or her sexual orientation.

Through gender-typing children learn about gender roles
which is a set of societal norms dictating the types of
behaviors that are generally considered acceptable,
appropriate, or desirable for people based on their actual or
perceived sex or sexuality.

Hence, we conclude that children learn appropriate gender
roles at an early age in the gender typing process.
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Advantages of providing primary education in mother
tongue:

Makes it easier to pick up and learn other languages.

Makes the classroom environment comfortable and boosts
the self-esteem of the children.

Helps in developing their critical thinking and literacy skills. It
further helps in extending the language to use in every
subject.

Helps in developing the child’s personal, social and cultural
identity. The child recognizes their identity from the mother
language.

Thus, we can conclude that giving primary education in the
mother language can help foster the language development
of the child.

Ques 151. ANS (B) Solution:
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Erickson's theory integrates personal, emotional, and social

development so it is often called the psychological theory of
personality development.
Much like Sigmund Freud, Erickson believed that Personality
developed in a series of stages.
Unlike Freud's theory of psychosexual stages, Erickson's
theory describes the impact of social experience across the
whole life.
Erickson's theory consists of 8 stages within each stage a
crisis must be resolved.
The crisis is a major development issue that becomes
important during a specific time period throughout one's life.
In order to be successful in solving the crisis, one must
balance positive and corresponding negative traits.
Ques 152. ANS (A) Solution:
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There are some important points of Creativity-
Creative person is known by his different manner of dining
anything. eg- Musician, Artist, Painter Dancer.
Creativity is the thinking Process involved in productivity of
an idea or concept that is new, original, and useful.
Creativity is worked by man which are goal directed.
It is the result of a person's divergent thinking.
Hence we can say that the Thinking Process involved in the
productivity of an idea or concept that is new, original, and
useful is termed Creativity.
Ques 153. ANS (B) Solution:
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Freud proposed the concept of 'The Electra complex’ and
"The Oedipus complex' in the Phallic stage of the
Psychosexual Development Theory.

The successful resolution of these two complexes develops a
mature sexual identity.

Oedipus complex:

Boy's sense of affection for his mother.

Feeling of rivalry for the father.

A threat of getting punished by the father for having a desire
for the mother.

Electra complex:

Girl's sense of affection for his father.

Feeling of rivalry for mother.

A threat of getting punished by the mother for having this
feeling towards her father.

Hence, it could be concluded that Freud considers the
paternal love of girls as Electra complex.

Ques 154. ANS (B) Solution:
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Theory of Generalization — C. H. Judd:

The theory of generalization was propounded by Charles
Judd in 1908.

According to the principles of generalization proposed by
Judd, the development of special skills, the mastery of

specific facts, formulation of particular habits and attitudes in

one situation have transfer value only if the skill, facts, habits,

etc. are systematized and related to other situation in which

they can be utilized.

The theory of generalization contends that transfer occurs as

a result of common features or general principles which one

learns in a situation. As a result, one is able to apply those

generalizations to a new situation.

Judd'’s theory also posited that the attitudes and dispositions

of the learners, such as motivation, also impacted on transfer,

and that the subject matter is not as important as the

methodology.

Hence, the theory of transfer of learning proposed by Charles

Judd is Theory of Generalization.

Ques 155. ANS (C) Solution:
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There are some important characteristics of the concept of

learning by insight.

In this theory, there are four great psychologists who played
the main role, names are Kohler, Koffka, Wertheimer, and
Leben.

This theory focused on the complete form of anything
greater than its partial portion.

This theory is famous by the name Gestalt Theory and was
first introduced by Gestalt School.

They considered that insight comes suddenly into the mind
due to a suitable environment.

The Father of Gestalt Psychology is Max. Wertheimer played
a wide role in psychology.

In this way, we can say that the Gestalt school of psychology
introduced the concept of learning by insight.

Ques 156. ANS (B) Solution:
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A person never stops after achieving a goal. It is a cycle that

continues throughout life, hence, called the Motivational
Cycle.

Component of motivation:

Need: A need is a lack of necessity. An action gets initiated
because of an underlying need.

Drive: It is the second step in the achievement of a goal. It
acts as a persistent stimulus to push an organism towards its
goal. It is the state of heightened tension leading to the
behaviour. It has a direction and valence.

Incentive: Positive outcomes from actions act as an incentive
in motivating a person towards achieving a goal. It is the
object of the environment that activates, directs, and
maintains behaviour.

Goals: They can be either positive or negative. Positive goals
are the ones that a person tries to attain, such as
relationships, food, success, etc. Negative goals are the ones
that a person tries to avoid or escape from, such as
embarrassing situations, insults, punishments, etc.

Ques 157. ANS (D) Solution:
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The first intelligence test was developed by French

psychologist Alfred Binet, who was commissioned by the
French government to identify students who would face the
most difficulty in school.

Need to measure intelligence arises to trap individual
differences in the general mental ability for a variety of
purposes, such as academic classification, occupational
counseling and personnel selection.

Intelligence tests can be defined as a test to evaluate the
general level of cognitive functions and intellectual measured
ability. It gives a broader view of human cognitive diversity
and intellectual skills.

Intelligence tests are classified on several bases.

i) Individual and Group tests

ii) Verbal and Nonverbal tests

Hence, it is clear that Intelligence Tests include questions or
tasks that are supposed to show how many measured
abilities a person has.

Ques 158. ANS (D) Solution:
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Motives can be classified into primary and secondary
motives. Let's Understand in brief:

Primary motives:

Primary motives are the ones that are natural/innate/inborn
and physiological. The most common primary motives are
hunger, thirst, need for security, rest, sleep.

This mainly pertains to motives involved with our need for
self-preservation. The primary motivation is known as Inborn
Motivation as it is unlearned.

Secondary motives:

Secondary motives develop as human society develops
economically and becomes more complex. Examples of
secondary motives are the need for power, need of affiliation
and status, etc.

More known in psychology as “learned” motivation, this type
of “drive” differs from one person to another. Secondary
motivation is known as Acquired as it is learned.

Hence, we can conclude that hunger, thirst, and the need for
security all are natural motives.

Ques 159. ANS (B) Solution:
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In "projection’ defense mechanism we attribute our
undesirable qualities to others as projection is a defense
mechanism in which:

one projects his own unpleasant feelings onto others.

one displaces his own negative traits onto someone else.
one attributes his own unwanted characteristics to other
people.

Hence, it could be concluded that in 'projection’ defense
mechanism we attribute our undesirable qualities to others.
Ques 160. ANS (C) Solution:
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According to the theorist Bakken, adolescence is a social
incident as a whole.

In adolescence there are the changes which is not observable
as physical but definitely the behavior of adolescents
changes due to social changes happening in their body and
mind.

These changes are as follows:

Conflict with family over control.

Development of abstract thinking

Attraction towards opposite gender

Relationships tend to be oriented from parents to peers.
Hence, we can conclude that according to the theorist
Bakken, adolescence is a social incident as a whole.
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Anything that hinders a computer from performing its

natural functions is called a failure or bug. Software bug is a
general term used to describe an error, defect, mistake,
failure, or fault in a computer program or system that
produces incorrect and unexpected results or causes it to
behave in an unexpected manner.

Ques 162. ANS (A) Solution:
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The use of blackboard comes in the group of visual teaching

aids. Visual materials are those teaching aids which are
directly visible such as models, charts, graphs, maps, bulletin

boards, flannel boards, museums, magic lanterns, slides, real
objects and blackboards etc.

Ques 163. ANS (B) Solution:
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Supplementary material is the teacher's instructional
material. The teacher makes teaching effective through
supplementary material. Supplementary material serves as
guidance for both teaching and the teacher. Supplementary
material includes books, teaching aids like blackboard, over
head projector, computer etc. The use of supplementary
material helps the teacher in teaching. Besides this, students
are also able to acquire knowledge of the subject effectively
and the knowledge gained is also permanent.

Ques 164. ANS (A) Solution:
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The question given above is related to inclusion.
Incorporation involves arranging different elements and parts
to create a whole.

Ques 165. ANS (D) Solution:
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In Bloom's hierarchy, skills are related to the cognitive

domain, affective domain and psychomotivational domain.
Ques 166. ANS (C) Solution:
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A teacher can use the following methods to promote
thinking skills in children — (i) Encouraging students to reflect
on what they can do that would be effective and name these.
(i) Along with the affective or personality aspects of children,
attention should also be paid to the cognitive components of
thinking. (iii) The teacher should use strategies that promote
thinking, skills and development and increase subject
knowledge. (iv) The teacher should present such a problem
which can develop creative thinking in the students.

Ques 167. ANS (C) Solution:
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The 10 major areas to develop life skills are — (i) Coping with
stress and emotions (ii) Creative thinking (iii) Problem solving
(iv) Self-esteem (v) Self-awareness (vi) Effective
communication (vii) Interpersonal Relationships (viii)
Empathy (ix) Conflict Resolution (x) Critical Thinking
Therefore, shyness is not helpful in developing life skills.
Ques 168. ANS (A) Solution:
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Life skills are divided into 3 categories - (1) Social skills (2)
Thinking skills (3) Empathetic skills
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According to Piaget, cognitive development peaks at the age

of 14-15 years. A child of 14-15 years is in the formal
operational stage. By the time they reach this stage,
children's brain becomes mature and their thinking starts
becoming systematic. Children of this stage develop the
ability to think, reason, imagine, draw appropriate
conclusions through observation, testing, experiment etc.
Ques 170. ANS (C) Solution:
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According to Vygotsky, people have also created
psychological tools to achieve efficiency in their behavior.
Ques 171. ANS (D) Solution:
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Deaf children face the inability to communicate and share
information with others in the classroom. In the class of
normal children, deaf children are not able to talk and are
not able to listen to the information, due to which a feeling
of despair starts arising in them.

Ques 172. ANS (D) Solution:
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Group members interact with each other due to which
changes occur in the behavior of group members. To deal
with group activism of students, it can be said that they are
mature, impatient, sensitive and able to differentiate between
good and bad. Therefore, special emphasis should be given

to group activities in the class. Special emphasis should be
given to activities.
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According to the World Health Organization, any loss or

abnormality of psychological, physical or anatomical
structure or function is called impairment. In other words,
WHO has suggested using the term ‘harm’ for any of the
types of problems mentioned above.
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Multicultural instruction is important in today's diverse
standards-based classroom to meet the needs of culturally
diverse populations of students.
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When a child fails, it means the system has failed. In child-
centred education, school, teacher, curriculum, teaching
method, teaching method etc. all try to ensure the learning
experience of the child according to his ability and capacity.
If the child still fails, it means that the system has failed and
hence there is a need to improve the system.
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If Meenakshi takes her class on a field trip and after returning
she discusses it with her students. This means that she is
assessing for teaching. In assessment for learning, teacher
and student get immediate feedback, due to this the
difficulties in learning can be removed and learning becomes
effective.
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For portfolio evaluation, list of story books read by children,

collection of leaves, clothes etc. and samples of children's
self-assessment sheet can be used. Portfolio is a type of file
in which systematic information about all areas of a person's




or child's life is collected and kept, i.e. what are the
achievements of a child and what are his shortcomings, all
this information is stored in the portfolio.
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With the answers to the four types of questions given above,
both children and teachers will be able to self-assess
themselves and correct the errors in their work.
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There is a common fear among parents regarding sex
education programs that their children will get wrong
information through sex education programs. Therefore
parents do not think about their children attending sex
education programs.
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In the multi-level planning framework established for
community development in India, the nation is supreme,
which is fair in allocation of resources and it eliminates
inequality through its policies.
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Communism is a school of philosophy that praises and

rewards group performance. Communism is a philosophy
that emphasizes the relationship between the individual and
the community. Its overriding philosophy is based on the
belief that an individual's social identity and personality are
largely molded by community relationships, with a small
portion of development being placed on individualism.
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GRT Rreror B forad aTeies & Uepfal a1 UG Bl fawmiid & &1
T foaT ST |

Nature pedagogy is a way of working with children and

creating settings for nature-friendly care and education. That
is, nature teaching emphasizes on teaching children
according to their nature in their real environment. This is a
kind of teaching through a natural process in which an
attempt is made to develop the nature or temperament of
the child.

Ques 183. ANS (A) Solution:

g gg & Ay e fawa 3 urgar fawaasg &1 =
&1 UTGUsHH Hg1 S § UIdshH & [If3d 81F 3 BT 31 I8
UdT 9 ol § {3 forddt derm oy # 3% W e & gRE
FI-F1 UeT 9 YIRGT B 1 3 B! B! Al BT Jelidh b
A3y T & e e o g |

The outline of lesson-wise content of a subject specified in a
specific time is called curriculum. With the curriculum being
fixed, students come to know what they have to read and
learn during the entire teaching session in a particular class.
With this, the ability of the students can be evaluated after a
certain time.

Ques 184. ANS (D) Solution:

TRe & 9 34T ol fermerd e SRisH & R S
T Y W 3MTd 8, e UTSTshH Hgald o | IHd & UTsashd |
3Eeg YT, W fae TaiaRur 3R AT TRkaer & Hiem
ST B | 32T UTSAshH B SHI &1 & ¥U U IR-T&0w I
T BT & |

Those learning experiences which occur spontaneously in an
unplanned manner during the school education program are
called invisible curriculum. Learning, invisible in the school
curriculum, comes through the natural environment and
social environment. In the invisible curriculum, students
receive mainly non-academic knowledge.

Ques 185. ANS (D) Solution:

o Ud R R & Rremdf @ v & gRA Fi-dUR § wHg
H firerd 81 59 QR 9 & SR e femff ergufyd € wsd
? | 39¥ faaTd U § fRiafor S, Wi, uley 9 e
YA HI S 5

In open and distance education, learners meet in groups only
occasionally throughout the semester. In this, almost
students remain absent during the entire session. In this,
individual teaching material, counselling, study material etc.
are provided.

Ques 186. ANS (A) Solution:

Qe SrawRT Bt FHM, UfaHIS B UgaH, BRI SgHT, AP
Jar 3R fagr R auT e &1 R NPE (National
Policy on Education) ?Tgl'q farem -ifa 1986 WE&‘T&F%I Tl'gl'q
TRi& =fife 1986 W it DRI &b FH AR TaH PR qUl
B! B TS & T TIR FH= 3G Bl B! FHawIAS e
T B3 B AroTeiT bl TR I faam T 81 399 i
BT DI debi1eb TRI& Td gaiies fRIal & &1 Wrae 3@
TR

Recommendations for equality of educational opportunities,
identification of talents, work experience, national service
and science education and research are given by the NPE
(National Policy on Education) National Education Policy
1986. In the National Education Policy 1986, prominent place
has been given to the schemes to provide equal
opportunities for education to all and to provide vocational
education to the students to prepare them for the society.
Under this, a provision has been made to provide technical
education and vocational education to the students.

Ques 187. ANS (C) Solution:

i fage & fRigor & Afdeiie fhed v fawiy wrifoe
TR & ot STt o1 wofla feror v & S Bt 1




RS T3S # Par-weal el o1 a3y g &
wU H 7T 3T S e 3 |

In the teaching of social sciences, historical films are useful in
vividly depicting various dimensions of a particular social
structure. Classroom films can be used as teaching-learning
material in social sciences.

Ques 188. ANS (D) Solution:

S.st T YMHIRIG 31eXTH Hedichd & (Y I g n FRuequr
ST Uforarefl § UR AT w SAUS BT THTGRITEdT BT Il
AT 0 BT &b AT SR FHTSH B Y| e,
P, TaeR! 3Mfe # gT uRad! &1 udl a1
faenffat b eiftrms & fore Ofkd Sz o |

The following are the objectives of social studies assessment
in S.st. — To improve the teaching-learning processes. To find
out the effectiveness of the teacher. To detect changes in
students' social and cognitive learning as well as interests,
skills, behaviours, etc. = Motivating students for learning etc.
Ques 189. ANS (A) Solution:

BT B! BT F 6% UM R I 307 HTH-URY & YITaR0T Hl
YR AP Y TAS U § TUT 3T Ihell I B a6 g
SIS U §1 39 1Y g1 3 TSl Y Uhe T J 3gHT PR &
T 376 I R B B

By teaching students outside the classroom, they are able to
better understand the environment around them and
connect their school knowledge with the outside world.
Along with this, they experience things directly due to which
their knowledge becomes permanent.

Ques 190. ANS (D) Solution:

few MR sifrard Rren &1 IR siffaa- 2009, 6-14
Tl & el UR AN el § | eTeiod © b feai wraii & oy 6-
18 I B 3R] AP U e & SRABR Bt IR S T 5|
The Right to Free and Compulsory Education Act- 2009
applies to children aged 6-14 years. It is noteworthy that
provision has been made for the right to free education for
disabled children till the age of 6-18 years.

Ques 191. ANS (C) Solution:

TS 3= Tded & yu1a § Rieniat ot yafa & af 2t 21
TGN BT HTaH], e D &HdT & fAbTE H HgrIeh, TdI-
TUT STHYT H TETID, GHR-THIYH 5q e SIN]fd &
TETIH 3M1fe 3wy Tdded ! fagiodr gl ¢

The influence of a good supervisor enhances the progress of
the learners. Spirit of cooperation, helpful in development of
leadership ability, helpful in new knowledge and research,
helpful in greater awareness for problem-solving etc. are the
characteristics of a good supervisor.

Ques 192. ANS (C) Solution:

faraerall &1 qHTSlRRUT & P b Y H ST AT I &
Hifeh A Il bl G-I U GHTS H S0+ HfHebT & Ul T
B B Teradl Rd §1 3R Wl Riem, uRar anfe &
e ¥ S1Ad GHS ST gHUFT Ha™ 91 & aR T 95 8
Hiear B1 ol @ I wrrforedr, smesf, Afadmdr, Yot anfg &1
TTe A BT IR e |

Schools are considered as centers of socialization because
they mainly help children to become aware of their role in

the society. Through early schooling, family etc. the child
learns a lot about becoming a participating member of the
society. From here he gets inspiration to follow social values,
ideals, morality, values etc.

Ques 193. ANS (C) Solution:

eI Tleror fafdl- s Rl RRAT ST U eI 21 »
favTo-smen o srgfawsdl fafd- o sifafve dnifa 1 qor
BT 31 m KR20 T Hex R fafd- 3a# siake

R/ 3R R &1 0T 8T & | 1 FHIR 31 [Afd- 59
fafy & i 3t TR weroit Ft Tam @t ol 71 erae §
fo5 3 gt faferal wdieror 1 fasard srh 1

Test-re-test method — It has the quality of stability and
stability. = Partition-by-half or semi-partition method — It has
the property of internal consistency. = KR20 or Cooder
Richardson Method — It has the property of internal
stability/consistency. = Parallel design method — Under this
method, two parallel tests are made. It is noteworthy that all
these methods indicate the reliability of the test.

Ques 194. ANS (A) Solution:

Ife T Rl forelt & faRiv & $fagTd & UIs &1 ugT 61 §
@ 39 ot 1t sraferdt & gAarST qut uRad=i iR UH
ST =1feT A1y B SHbT dfife Ha F Faley +ff Ru1fld =
EINY

If a teacher is teaching a lesson on the history of a particular
region, she should highlight the similarities and changes in
different time periods and also establish its connection with
the global context.

Ques 195. ANS (C) Solution:

S.St Hef-Hef B gaTd, NeuTd SR Yarie! & I
Irafamaret & AR Sl & IR H uieral Ha gR faar o
BEXIE]

Prejudice, discrimination and prejudice can be removed in
the S.St classroom by discussing various dimensions of social
realities.

Ques 196. ANS (C) Solution:

S.st B TS Hedia- RIefor T uftsar & gRM faar
ST | TS Gedich & 3iaifd e, 3o i
HTieT, fRigror faf sif &1 TuraT, THTgEHTRGT T
IUAITAT BT HHTH SHT BT § Al a5 AT HRIHH,
g7 fafy &1 o 31fies W, THTaRITC TUT ITART &1 b |

Formative assessment in S.st is done during teaching

learning process. Under formative evaluation, the teacher
assesses the quality, effectiveness and usefulness of his
educational programs, teaching methods etc. so that he can
make the educational programs and teaching methods more
better, effective and useful.

Ques 197. ANS (C) Solution:

MBR (PR D) Sl BR P! IAH BT HIH Bl g1 3dk: One
who drives a motor—car &1 UARATTUT HRA a7 Ko
chauffeur (SIgaR) gl

Chauffeur (car driver) who works to drive the car. Hence, the
word to replace One who drives a motor—car is chauffeur.
Ques 198. ANS (A) Solution:

G-8 gaiaRr Tt famife (2001) 78 Ay TE) & faas o5
BIATE HA & o 3115 Ay =i ) ueb a1fifes Sob 21




T8 U SRIPT IO AT GHEH 51 § St areell SR TiaRor
B TS &1 37 SRIPTT NOME S gt AR qafaRor b
Sredt 81 (1) Sfdew fafqerar R gweidr (1992)- 78 faqgw &
T vt o1 gRe & forg Ifd Yorifa F9H R ER ST B
(2) T gfiee TSiaT (1990)- I8 A4 Sl & el & Jwaifid
FRA AR T DY TP JRIE IR vl s veH e & forg
T TS 71 (3) ITT SHTUPR TS (1989)- T FHI, Tifd
3R I8 oA YT B & T St & SATBRI B &l
R SR TETaT & & T e e 31

G-8 Environment Ministerial Communiqué (2001) It is an
annual meeting of eight developed countries to take some
action against global issues. It is not an international
declaration or agreement that links children and the
environment. Other international declarations that link
children and the environment. (1) Convention on Biological
Diversity (1992) — It emphasizes on making appropriate
strategies for the protection of endangered species. (2) The
Habitat Agenda (1990) — It is an agenda to address the issues
of human settlements and provide a safe and adequate
shelter to all. (3) Convention on the Rights of the Child (1989)
— It is an agreement to protect and promote the rights of
children to ensure equality, peace and freedom to them.
Ques 199. ANS (C) Solution:

JArpTer fRIeor-ufkierr # Rt & earait ofR I B

o fyd o 3R ST YR 9 & fore AFAR, Srfemey,
T HETE T4l sfe ol fSure foar a1 5| urfirs
& & &= H fRigfep! &b UeR &Farsh & fdbr o1 e o
WA gU qARIET SR 3 Seid Ut ay 20 feawia Jara
e TR HRIHH BT WraeT a1 741 3 | TaRd e
RN 7 I Rrerept H foid o1 ufshar o7 fabrg 1 3R
IH Qe faw axg &t auet fas g w1 5

In-service teaching-training includes seminars, workshops,
conferences, classes, exhibitions etc. designed to develop
and improve the capabilities and knowledge of teachers.
Keeping in mind the development of professional capabilities
of teachers in the field of primary education, a provision of
20 days in-service teacher training program every year has
been made under Sarva Shiksha Abhiyan. The objective of in-
service teacher training is to develop the thinking process in
teachers and to develop their understanding of educational
subject matter.

Ques 200. ANS (C) Solution:

HSH YU H gIUINT I §IH 8g BRI BT SUANT faar
ST 8| BHIIRTEE Th YHR 1 Slfads THel H1 AIHR 8, S
3P T TGP T TR B U Il §, HRA | HIIR1SS
ffam 1957 Ary 81 forads dgd &18 ot Ia TR Suit
I BT HIURTSE FRT Tl 5|

Copyright is used to protect intellectual property from

misuse. Copyright is a type of intellectual property right,
which is received by its original author or creator, Copyright
Act 1957 is applicable in India. Under which any original
creator can get copyright of his creation.




